=FEFDOEEQ (FRE L f#EN)

1) z=10 (2) z=8
D (6v2)+(2VT) =2

22=100
x>0 THBEN6 z=10

w

3) =219

(2) 1524+ 22=172
z2=64
x>0 THBN5 z=38

3) 22+ (442)*=(6+/3)*
z2=176
x>0 THdN5 r=2/19

2,5 cm

AO:%AC:%xlozfs(cm), CO=10—6=4(cm)
4 4

BO:EBD=€X10=8(cm), DO=10—8=2(cm)

THENH AO?+B0%=6%+8=100
F7, AB’=10°=100 THEN5 AO2+B0O%=AB?
&-T, AAOBIZ, W AB 280 $2EA=AFT
Znrx, ACODIZEWT
4% 4+ 22=CD?
CD%=20
CD>0TH%5»5 CD=2/5 cm

2/3 cm
Z0CB=90" & V)
£ZCOB=180°—(90°+30°)=60°

ZAOB=90°

THENG LCAB:%ACOBz%x60°=30°

£-oT, AACBIX, CA=CBDZFI=AFTH5,
AOCB L, 3 2DFEM30°% 60°, 90° DEA=AFT,
OC=2cm THEN5

CB=./30C=+/3 x2=2/3 (cm)
UM T AC=2+/3 cm

30°




